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Problem Set A
Choose and answer 4 questions out of|A-1], |A-2] IA-3],|A-4] M, M, IA-7l|A-8], and |A-9|

A-1

TROTRTOMIZEZ . (English translation is given on the next page.)

(1) TRROMIZEZ L. 7L, B B(z,y) 3RATEA50 3,
1
B(z,y) = / 11— ldt, >0, y>0
0

(a) ROZEHXDVK YLD L ETE,
zB(z,y+ 1) =yB(z +1,y)

(b) ROBRHRY 1 & L 2 RE.
/2
B(z,y) = 2/ sin?®~1 fcos?¥~1 9 df
0
(c) RDERDEY LD Z & 2RE.
1 b b oo ¢b-1
53(1 ‘a’z) */0 Ty &

(2) TEOMIEL L. %#£L, 75 A BRRTEL N3,

l1-p p)
A= , O0<p<l, 0<gx<l1
( q 1—q p q

(a) n ZIEBE LTS, A" 2KD X,
(b) lim A" % Ko k.
(c) RATERIND exp(A) KD k.

o0

1
exp(A) = Z -T-JA"

n=0 "

=2l AYBIATSITH 5.
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